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(APPLICATION ORIENTED COURSE)
APM - 01 : INTEGRATED PEST MANAGEMENT

Time : 3 hours Maximum Marks ;: 100

Note :  Question No. 1 is compulsory. Attempt any eight
questions from question no. 2 to 11.

1. (a) Define the following terms : 5
(i)  Perennial pests
(i) Antifeedant
(iii) Physical control
(iv) Potential pest
(v) IPM module
(b)  Expand the following abbreviations : 5
i) ETL
(i) IFTK
(iii) NPV
(iv) SIT
(v) NCIPM
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Give the term used for each of the 5

following :

(i) Chemical that modifies pest
development.

(i1))  Chemical that enhances toxic action
of pesticides.

(iii) Pesticides of plant origin.

(iv) Pest species feeding on single
host-plant species.

(v)  Chemical used to kill snails.

(d) Match the items given under ColumnIwith 5
those given under Column II :
Column I Column II
(i) |Piercing and sucking |(A)|Butterfly
mouth parts
(ii) |Siphoning mouth parts |(B) |Bugs
(iii) | Pthorimoea operculella  |(C) |Pulse beetle
(iv) |Callosobruchus Chinensis |(D) |Cotton bollworm
(v) [Pectinophora gossypiella |(E) |Potato tuber moth
2. Differentiate between the following (any four) : 10
(a) Food chain and Food web
(b) Parasitoid and Predator
(c)  Major and Minor pest
(d)  Holometabolous insectand Hemimetabolous
insect
()  Dust and Wettable powder
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3. Name one pest each of the following crops and 10
briefly discuss the nature of damage caused by
them :

(a) Rice

(b) Sugar cane

(c) Cotton

(d) Gram

(e)  Brinjal

4.  Write short notes on any two of the following : 10
(a) Merits and demerits of chemical control
(b) Bt cotton
() Reasons for slow adoption of IPM

programmes

5 (@) Discuss damage symptoms and 5

management of phytophagous mites.

(b) Discuss merits and constraints in adoption 5
of biological control.

6 (a) What is behavioural control ? Discuss 5

application of semio-chemicals in IPM.

(b) Define host-plant resistance. Describe 5
various physical and biological factors that
affect expression of resistance.
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7. (a)
(b)
8. (a)
(b)
9. (a)
(b)
10. (a)
(b)
11.  (a)
(b)
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What is farmer field school (FFS) ? Briefly
discuss main features of FFS.

Enlist any three cockroach species found
round the globe. How can these be

managed ?

Define IPM. How agro-ecosystem can be
planned to reduce pest population ?

Enlist mechanical methods of pest control.
Discuss hand picking method with suitable

examples.

What is pesticide resistance in insects ?
How can it be managed ?
Discuss role of practitioners and

information sources in IPM implementation.

Discuss the objectives of the ‘Insecticides Act
of India’, 1968.

What is remote sensing ? Discuss
applications of satellite remote sensing for

pest management in India.

What is cultural control ? Discuss any two
cultural methods of pest control.

Discuss futuristic approach for promoting
IPM.
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1. (a) freafafad wedl st afnfia wifs 5

() —wEIHd deF

(i) OISO

(i) e FEeO

(iv) FarEt dresw

(v) emE.dium. Aege

(b) Prefefos dfra w9 # qu F S fafag 5

(i) ETL
(i) IFTK
(i) NPV
(iv) SIT
(v) NCIPM
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(c) Frefefaa ve&m & fag gam faen s arer 5

"?IH%’TF@'Q:

(i) WA S dew TRadT =) wviaiag wa
gl

(i) WA S drew TR = fawr fe A
s wxar g1

(iti) 9T T F T Treh

(iv)  THe T 1e Tt W ey e areft
dres =ifa |

el & |y frem #ifig

hierq 1 iy 11
O - gaim (A) faeh
(i) [FEwA qEm (B) [=m

(iii) | 7R f%er sitmegeianr |(C) T difee
(iv) | FeTgae Fgfag (D) s ate o
(v) |9f5TrBRT it |(B) ﬁéﬁiﬂ@?@

(@) W@ @ 9u7 @R S

(b)  TESTEY e qraqaft

(c) & T i fgm

(d) er%rﬁaaﬂzama@mﬁﬁrﬁz
()  Hfd d= wetey yraer
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3. frafafad y&@ wua &1 T diew & 91 Fasy 10
T 3TY BA A1t &fd o &Y 61 gl R

4. TrAfefaa ¥ @ fe=l & © dtw fewford fafag ;. 10
(a) TR fEE0 & o7 den 9
(b) Bt HUH
(c) IPM SshHAT &1 HH AU o HR

5. (a) UcuWeEl swel | B ol &ifd koo 9@ 5
EYE i ==l hifad |

(b) Sfa AT 1 STIAH % @ SR wened w5
=491 ifaw |

6. (a) SITERU (AT FAT? GHHfA ek Jaigd 5
T HIHIREET o S &1 == Hig |
(b) IRUTE UIeY wiqwy it aRfya wifse ) gfade 5
#1 Afyaafa =1 gafaq & 9t sdifas o
Sfas FRe! &1 T FHIST |
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10.

11.

(a)
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fraT @d wpa (FFS) %1 €7 FFS &1 4&3
fertoaratl =1 Fag o ==t wifs )

farva & w1q S =7t ferag =1 fh=et < wonfai
@1 gelog FI T8 F9 yafad faan

kel & ?

IPM =1 9iafya ®ifqu| e =afie 1 %0
F & e Ffa wieds 1 F9 Aemeg G
EIRETIEY, |

= et faferd =1 gefag Fifm ) 3faq
30N |ied wed-= fafy 1 ==t Hifs |

hiel 1 dres i gfaiy #2182 59 %9 yefud
o < gehar €2

IPM & foraraem & weirmdatell qen g=m &
Bl T et 6t ==t w i

"R & et sifafram, 19687 sevEl #
<=1 Hhifea |

HT HIeT #0182 9Rd § died yayd 3g
3YUE YT T ® STIIAN FT == Fif |

g 790 ;1§27 A fewm ¥ fat Q)
& fafei =t == wifs)

IPM =1 YiedTied T & fordl we gfte o =t
==t Fifau
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